52 525 Spectral colourss_c, Yw=100
7 M, max (m) chromatic value, D65
cs%omaticity (x,y)

X=95,04,Y,=100,00Z,~108,89 B,
Xw=0,3127y,,=0,3290 140
Ag=(ag~[agnta ytao,A) Y 4y
Bo=(bo~[bo,ri+bo y+bo,al) Y

29 =ago [x/y] L
bo = byg [2M 4
ay =1, byp=-0,4
0 Ao
: : ,
n =D65 -40 760 495 40
%625 ag,y=ay(Y/Y1g-1) Sog
9%95¢,E b, y=boy(Y/Y1g-1) e 538
ayy=0,000,b,y=0,000 )
ag =0,000,by A=0,000
¥ CIE 1931 X Spectral coloursSg, Yyy=100
T max (m) chromatic value, D65 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, Bp)
DE361-1A_1 DE361-2A_1
Xw=95,04,Y,,=100,00,Z,,=108,89 81 Xw=95,04,Y,,~100,00,2,~108,89 B2
¥w=0,3127y,,=0,3290 %,=0,3127y,=0,3290 40
Ar=(ar~[ag n+ay yt+ag al) Y P! Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ay = ago [(x-0,172/y] 2 = a0 [(x-0,172/y]
by = by [z =bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mr1=1,000b 1 Mpy=-0,169,bp;=0,389 2

n = D65 -40 40 n=D65 -40 40

ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)

by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)

2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000

31 4=0,000,b; =0,000 ay 4=0,000,b, ,=0,000

Spectral coloursSs, Yy=100 Spectral coloursSg, Yyy=100

max (m) chromatic value, D65 -40 max (m) chromatic value, D65 -40

chromatic value A4, B;) chromatic value (A,, Bo)

DE361-3A_1 DE361-4A_1

X,=95,04Y,=100,007,=108,89 B, X,=95,04,Y,,100,007,~108,89 B,

Xy=0,3127y,,=0,3290 L40 Xw=0,3127y,,=0,3290 40

Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y

B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y

ag = ag [(x-0,171)/y] a a4 =ay[(x=0,17D/y]

b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]

ay0= 1, byo=-0,4 o A ay0=1, byy=-0,4 A
3 Mp1=-0,169,bp;=0,389 4

Mp1=—0,974,b,=0,658 7ho

n = D65 -40 760495 50 40
a3 y=ay(Y/Y1g-1) Q%70

b y=boy(Y/Y1g-1)
ay=0,000,b,y=0,000
25,4=0,000,05,4=0,000

Spectral coloursSs, Y\y=100

n = D65 -40
3y, y=3ov(Y/Y1g71)
by y=boy(Y/Y1g-1)
a,,=0,000,5,,=0,000

a4, x=0,000,b, ,=0,000
Spectral coloursSg, Yyy=100

40

max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE361-5A_1 DE361-6A_1
X,=95,04Y,,=100,007,7108,89 B, X,=95,04,Y,,=100,00Z,~108,89 B,
X=0,3127y,,=0,3290 40 Xw=0,3127y,,=0,3290 40

As=(a5-[as5 n+as y+as al) Y
Bs=(bs—[bs n+bs y+0s ) Y
a5=a,,{(+8,61x~7,19~0,26)#]
bs=by,[(+1,99+3,86/-2,40)4]
a5, = 0,10,by, = 0,10

g6y R=475,503,574,494c,
n = D65 -40

a5 y=apy(Y/Y1g-1)

bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursSs, Y\y=100
max (m) chromatic value, D65
chromatic value (Ag, Bs)

As
40

As=(ag-[g n+3g,y*ag,Al) Y
Bg=(bg[bg,ri+b v+bs Al) Y
g = a0 [X/y]

bg=bao [(Mp1x+0p1)/y]
=1, by=-04 4
Mp;=-0,974,b;=0,658
n = D65 -40
ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000
a5 4=0,000,b5 ,=0,000
Spectral coloursS, Yyy=100
max (m) chromatic value, D65
chromatic value (Ag, Bg)

DE361-7A_1

DE361-8A_1




55 52 525 Spectral colourss_c, Yw=100
7 M, max (m) chromatic value, D50
cs%omaticity (x,y)

X,=96,42,Y,=100,00Z,82,49 B,
Xy=0,3457y,,=0,3585 20
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y

ag = ao [x/y] 44
b = byo [z

ay =1, byp=-0,4

)
n = D50 _40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
agy=0,000,b,y=0,000
ag =0,000,0 4=0,000

, CIE 1931 X Spectral coloursSg, Yyy=100
0 max (m) chromatic value, D50 -40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, B)
DE361-1A_1 DE361-2A_1

Xw=96,42,Y,,=100,00Z,~8249 B,
xy=0,3457y,,=0,3585
Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
3y = ay[(x-0,17Dh]

by =byo [ZA

ay=1, byp=-0,4
mr;=1,000,b

A

Xu=9642Y,~100,002,~8249 B,
X=0,3457y,,=0,3585
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y
2y = a0 [(x=0,17D/y]
=bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4
Mp;=-0,169,b5,=0,389

440

A

n = D50 -40 40 n = D50 -40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
2y 4=0,000,b; ,=0,000 ap o=0,000,b, ,=0,000
Spectral coloursSy, Yy=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, D50 -40 max (m) chromatic value, D50 -40
chromatic value A4, B;) chromatic value (A,, Bo)

DE361-3A_1 DE361-4A_1
X,=96,42,Y,,~100,00Z,~8249 B, X4=96,42,Y,~100,007,8249 B,
%y=0,3457y,,=0,3585 240 Xy=0,3457y,,=0,3585 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = a5 [(x-0,171/y] il ay = 850 [(x-0,1791]
b3=byo [(Mp1x+bp1)/y] 4 =50 [(Mp1x+bp1)/Y]
ay0= 1, byo= -0,4 : ay0=1, byg=-0,4 A
Mpy=-0,974b,=0.658 % : 3 Mp;=—0,169,bp,=0,389 4
n =D50 —40 _—57p0?9558% 40 n =D50 —40 40
ag y=apy(Y/Y1g-1) > ay y=apy(Y/Y1g-1)
b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
Spectral coloursSy, Y\y=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE361-5A_1 DE361-6A_1
Xy=96,42,Y,,=100,00,Z,,=82,49 B5 Xw=96,42,Y,,~100,00,2,~=82,49 BS
x=0,3457y,,=0,3585 40 X=0,3457y,,=0,3585 140
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
ag=ay,[(+8,61x~7,19/-0,26)4] g = a0 [X/y] +
D5=b5,((+1,99+3,86/-2,4004] bg=bao [(Mp1x+0p1)/y]
a5, = 0,10,b, = 0,10 ay0=1, byg=-0,4 A
g6,y R=475,503,574,494¢,E, nm *7p0 ) 5 Mp1=-0,974 by,=0,658 0 6
n = D50 —40 5T 40 n = D50 40 5p04%5 5[ 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Spectral coloursSy, Y\y=100 Spectral coloursS, Yyy=100
max (m) chromatic value, D50 max (m) chromatic value, D50 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE361-7A_1

DE361-8A_1




55 52 525 Spectral colourss_c, Yw=100
? M, max (m) chromatic value, P40
cs%omaticity (x,y)

CIE 1931 X

X,=100,93)Y,,=100,00Z,-64,68 B,
Xy=0,3799,,=0,3764

Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y
ag = ao [x/y]

b = byo [z 44
ay =1, byp=-0,4

n = P40
ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000
a9 A=0,000,by ,=0,000
Spectral coloursSg, Yyy=100

-40

o max (m) chromatic value, P40 -40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, B)
DE361-1A_1 DE361-2A_1
X=100,93,Y,,=100,00,2,,~64,68 81 X,~=100,93,,,=100,00,2,,=64,68 B2
Xw=0,3799y,,=0,3764 40 X=0,3799y,,~0,3764 +40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
a1 =ay[(x-0,179H] 8 = a9 [(x-0,179/y] +
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mr1=1,000,b 1 mp1=-0,169,bp;=0,389 440 2
n=P40 -40 40 n = P40 -40 g 43 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) by v=boy(Y/Y1g-1) 1
apy=0,000,5,y=0,000 ayy=0,000,b,y=0,000
ay 4=0,000,b; 5=0,000 a,4=0,000,b 5=0,000
Spectral coloursSs, Yy=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, P40 -40 max (m) chromatic value, P40 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
DE361-3A_1 DE361-4A_1
X,=100,93)Y,,=100,00Z,=64,68 B, X,=100,93)Y,,=100,00Z,64,68 B,
%w=0,3799y,,=0,3764 20 Xy=0,3799y,,=0,3764 20
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
30=1, by=-0,4 A 80=1, by=-0,4 A
Mp1=-0,974 bp,=0, 3 mp;=—0,169,bp,=0,389 4

a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000
ag 4=0,000,b3 x=0,000
Spectral coloursSs, Y\y=100
max (m) chromatic value, P40
chromatic value (Ag, B3)

n = P40 -40
3y, y=agy(Y/Y1g-1)

by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000
ay o=0,000,b4 ,=0,000
Spectral coloursSg, Yyy=100
max (m) chromatic value, P40
chromatic value (A4, Bs)

40

DE361-5A_1

DE361-6A_1

X,,=100,93),,100,00Z,764,68 B
Xy=0,3799y,,=0,3764
As=(a5-[as5 n+as y+as al) Y
Bs=(bs—[bs n+bs y+0s ) Y
a5=a,,{(+8,61x~7,19~0,26)#]
bg=h,,[(+1,99+3,86/~2,40)4]
a5, = 0,10,by, = 0,10

g6y R=475,503,574,494c,
n = P40 -40

a5 y=apy(Y/Y1g-1)

bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursSy, Y\y=100
max (m) chromatic value, P40
chromatic value (As, Bs)

X,=100,93),,100,007,,64,68 B,
X=0,3799y,,=0,3764

As=(ag-[g n+3g,y*ag,Al) Y
Bg=(bg[bg,ri+b v+bs Al) Y
g = a0 [X/y]

bg=bao [(Mp1x+0p1)/y]
ay0=1, byy=-0,4
Mp;=-0,974,b;=0,658
n = P40 -40
ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000
a5 4=0,000,b5 ,=0,000
Spectral coloursS, Yyy=100
max (m) chromatic value, P40
chromatic value (Ag, Bg)

DE361-7A_1

DE361-8A_1




55 52 525 Spectral colourss_c, Yw=100 Xy=109,84.Y,,=99,99,7,,=35,58 BD

¢ Mmmax (m) chromatic value, AOO Xw=0,4475y,,=0,4074 +40

chromaticity (X, y) Aq=(an-| +an o Y
550 o0=(80~[0,nt,y+a0,Al)

N Bo=(bg=[bo,r+0o,y*+0p,al) Y

29 =ago [x/y] +

by = bao [2/4]

ay=1, byp=-0,4
A
n = A00 -40 [4B70 5 5 40

%625 ag,y=ay(Y/Y1g-1)

9%95¢,E b, y=boy(Y/Y1g-1)
ay=0,000,5,y=0,000
a5,4=0,000,by 4=0,000

CIE 1931 X Spectral coloursSg, Yy=100

< max (m) chromatic value, AOO T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, Bp)

DE361-1A_1 DE361-2A_1
Xu=109,84Y,,=99997,-3558 B, X,=100,84,,=99,99.2,~3558 B,
xy=0,4475y,,=0,4074 T40 X=0,4475y,,~0,4074 =40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
3y = ay[(x-0,17Dh] AL a =2y [(x-0,171)/y] AL
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4 ( ay=1, byp=-0,4

A, A

mr1=1,000, 80\ Mp1=-0,169 bp;=0,389 2
n =A00 0 % B 40 n=A00 -40 75 40

ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)

by v=boy(Y/Y1g-1) 1 03 y=boy(Y/Y1g-1) 1
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000

ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000

Spectral coloursSs, Yy=100 Spectral coloursSg, Yyy=100

max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value A4, B;) chromatic value (A,, Bo)

DE361-3A_1 DE361-4A_1
X,,=109,84),,=99,99.7,=3558 B, X,=109,84Y,799,99.7,73558 B,
Xw=0,4475y,,=0,4074 140 Xw=0,4475y,,=0,4074 40
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = a0 [(x-0,172/y] 4 ay =2y [(x-0,171/y]
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]

850= 1, byo= -0,4

80=1, byp=-04 A
mp;=-0,974,bp,=0,658 5 3 mp;=-0,169,bp,=0,389
n=A00 -40 K 40 n = A00 -40

A,
40

a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)

b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1)

2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000

ag A=0,000,b3 ,=0,000 a, o=0,000,b, ,=0,000

Spectral coloursSy, Y\y=100 Spectral coloursSg, Yyy=100

max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE361-5A_1 DE361-6A_1
X,,=109,84Y,,=99,99.7,=3558 B, X,=109,84)Y,,799,99.7,73558 B,
Xw=0,4475y,,=0,4074 140 X,,=0,4475y,,=0,4074 40
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
a5=a,,{(+8,61x-7,19/~0,26)4] 1 ag = ag [X/Y]
bg=h,,[(+1,99+3,86/~2,40)4] be=b,0 [(Mp1x+bp)/y]

a5, = 0,10,y = 0,10 A a0 =1, byy=-0,4 A
Ag,G,y,R=475,503,574,494c, 5 mMp1=-0,974,bp;=0,658 45 6
n=A00 -40 40 n=A00 -40 40

ag y=apy(Y/Y1g~1)
b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000
a5 4=0,000,b5 ,=0,000
Spectral coloursSg, Yyy=100

a5 y=ay(Y/Y1g-1)

bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursSs, Y\y=100
max (m) chromatic value, AOO -40 max (m) chromatic value, AOO
chromatic value (Ag, Bs) chromatic value (Ag, Bg)

DE361-7A_1 DE361-8A_1




55 52 525 Spectral colourss_c, Yw=100
7 M, max (m) chromatic value, E00
cs%omaticity (x,y)

CIE 1931 X

X,=100,00Y,,=100,00Z,=100,00 B,
Xy=0,3333y,,=0,3333 20
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo=[bo,r+0o,ytbo,al) Y 44

29 =ago [x/y]

bo =bao [2] a

ay =1, byp=-0,4

n=E00 -40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000
a9 A=0,000,by ,=0,000
Spectral coloursSg, Yyy=100

max (m) chromatic value, EO0 -40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, Bp)
DE361-1A_1 DE361-2A_1

Xw=100,00,Y,,=100,00Z,=100,00 B,
xy=0,3333y,,=0,3333
Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
3y = ay[(x-0,17Dh]

by =byo [ZA
ay=1, byp=-0,4
mr;=1,000,b

X,=100,00Y,,=100,00Z,~100,00 B,
%,=0,3333y,=0,3333
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y
2y = a0 [(x=0,17D/y]
=bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4
Mp;=-0,169,bp1=0.3

9

n=E00 -40 40 n = E00 -40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Spectral coloursSs, Y\y=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, EOO -40 max (m) chromatic value, EOO -40
chromatic value A4, B;) chromatic value (A,, Bo)
DE361-3A_1 DE361-4A_1
X,,=100,00Y,,100,00Z,,100,00 B X,=100,00,Y,,100,00Z,,=100,00 B,
Xy=0,3333y,,=0,3333 L40 Xw=0,3333y,,=0,3333 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
a3 = a0 [(x-0,172/y] E 83 =20[(x-0,179h]
b3=byg [(Mp1x+bp1)/y] 440 bs=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 ay =1, byp=-0,4
Mp;=—0,974,bp;=0,658 1 As Mp1=-0,169,bp;=0,389 As
n=E00 -40 a0 S 40 n = E00 —40 0,000 40
a3 y=ay(Y/Y1g-1)

b3 v=b,y(Y/Y1g-1)
ayy=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Spectral coloursSs, Y\y=100

3y, y=agy(Y/Y1g-1)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000
ay,4=0,000,b, ,=0,000
Spectral coloursSg, Yyy=100

max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE361-5A_1 DE361-6A_1
X,,=100,00Y,,100,00Z,,100,00 B X,=100,00,Y,,100,00Z,,=100,00 B,
Xy=0,3333y,,=0,3333 40 X=0,3333y,,=0,3333 140
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(5-[bs n+bs y+0s5 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
85=8,,{(+8,61x~7,19/-0,26)4] g = a0 [X/y] +
bs=by,[(+1,9%+3,86/-2,40)4] be=byg [(Mp1x+bp1)/y] 44
apy = 0,10,b,, = 0,10 A ay=1, byp=-0,4 2 A
g6y R=475,503,574,494c, 5 Mp;=-0,974,b;=0,658 0 6
n=E00 -40 40 n=E00 -40 3:'070495 > 40

a5 y=ay(Y/Y1g-1)

bs y=boy(Y/Y1g~1)
a,y=0,000,b,y=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursSy, Y\y=100
max (m) chromatic value, EOO
chromatic value (Ag, Bs)

ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000
a5 4=0,000,b5 ,=0,000
Spectral coloursS, Yyy=100
max (m) chromatic value, EOO
chromatic value (Ag, Bg)

DE361-7A_1

DE361-8A_1




515 520 5p5  Spectral coloursSe, Yiy=100
08 17 M, max (m) chromatic value, CO0
510[¢ chromat|C|ty (x,y)
! N/

X,=98,07,Y,,~100,007,~118,22 B,
X=0,3100y,,=0,3161
Ag=(ag-[20,1*a0,y+ag al) Y ¥
Bo=(bg=[bo,n+bo y*+0g Al) Y
ag =agg [x/y]

bg = bao [2M)

ay =1, byp=-0,4

Ao
) ,
n = C00 _40 40
2628 ag,y=ay(Y/Y1g-1)
495¢,E b, y=boy(Y/Y1g-1)
ayy=0,000,b,y=0,000
ag =0,000,by A=0,000
CIE 1931 X Spectral coloursSg, Yyy=100
0 max (m) chromatic value, CO0
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, B)
DE361-1A_1 DE361-2A_1
X,=98.07,Y,,=100,00Z,~118.22 B, X=98,07,Yyy=100,00Z,,=118,22 B2
%w=0,3100y,,=0,3161 0 Xy=0,3100y,,=0,3161
Ar=(ar~[ag n+ay yt+ag al) Y 40 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] 8 = a9 [(x-0,179/y]
=hyo[2/M] ® =bs0 [(Mpx+bp1)/Y]
ap0=1, byg= 04 A ay0= 1, byo= ~0,4
mr1=1,000,b1y=0.171 ) 7po ) M Mp1=-0,169,bp;=0 389 | aT
n=C00 —40 ) 40 n=C00 )
ay y=apy(Y/Y1g-1) aZ,V‘aZY(Y/Yl8_1) S 3
by y=boy(Y/Y1g~1) by v=boy(Y/Y1g-1)
apy=0,000,5,y=0,000 ayy=0,000,b,y=0,000
ay 4=0,000,b; 5=0,000 a,4=0,000,b 5=0,000
Spectral coloursSs, Yy=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, CO0 -40 max (m) chromatic value, CO0
chromatic value A4, B;) chromatic value (A,, Bo)
DE361-3A_1 DE361-4A_1
X,=98.07,Y,=100,007,~118,22 B, X,=98,07,Y,=100,00Z,-118.22 B,
%y=0,3100y,,=0,3161 20 Xy=0,3100y,,=0,3161 20
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
a3 = a0 [(x-0,172/y] ay =2y [(x-0,171/y]
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
30=1, by=-0,4 A 80=1, by=-0,4 A
Mp1=-0,974 bp,=0, 3 mMp;=-0,169,bp,=0,389 2
n = C00 40 n=Coo 40 o ? 0

a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000
ag 4=0,000,b3 x=0,000
Spectral coloursSy, Y\y=100
max (m) chromatic value, CO0O
chromatic value (Ag, B3)

3y, y=agy(Y/Y1g-1)
by y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000
a, o=0,000,b, ,=0,000
Spectral coloursSg, Yyy=100
max (m) chromatic value, C00
chromatic value (A4, Bs)

DE361-5A_1

DE361-6A_1

X,=98,07,Y,,=100,007,711822 B
X=0,3100y,,=0,3161
As=(a5-[as5 n+as y+as al) Y
Bs=(bs—[bs n+bs y+0s ) Y
a5=a5,{(+8,61x-7,19-0,26)4] 42
bg=h,,[(+1,99+3,86/~2,40)4]
oy = 0,10,b5, = 0,10
g6y R=475,503,574,494c,
n = Co00 -40
a5 y=apy(Y/Y1g-1)
bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000
a5, 4=0,000,bs ,=0,000
Spectral coloursSy, Y\y=100
max (m) chromatic value, CO0O
chromatic value (As, Bs)

Xu=98,07,Y,~100,00Z,~118.22 B,
%,=0,3100y,,=0,3161
Ae=(36~{36,1*35,y*35l) Y
Bg=(Pg—[bg n+bs,y+0s Al) Y
g = a0 [X/y] 44
bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4

mMp1=-0,974,,=0.658 Aﬁe
n=C00 —40 40

ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000

a5 4=0,000,b5 ,=0,000
Spectral coloursSg, Yyy=100
max (m) chromatic value, CO0
chromatic value (Ag, Bg)

DE361-7A_1

DE361-8A_1




55 52 525 Spectral colourss_c, Yw=100
7 M, max (m) chromatic value, POO
cs%omaticity (x,y)

X,=102,06.Y,,~100,00Z,~81,06 B,
Xy=0,3604y,,=0,3531 40
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y

89 = ago [X/y] 44
by = bao [2/4]
app=1, byy=-0,4
. Ao
n = P00 4o 40
Q628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
agy=0,000,b,y=0,000
ag =0,000,0 4=0,000
; CIE 1931 X Spectral coloursSg, Yyy=100
T max (m) chromatic value, POO -40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, Bp)
DE361-1A_1 DE361-2A_1
Xw=102,06Y,,=100,00Z,=81,06 B, X,=102,06Y,,=100,00Z,~81,06 B,
¥=0,3604y,,=0,3531 0 %=0,3604y,,=0,3531 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
ay = ayo [(x-0,17D/y] ay = a0 [(x—0,17D/y]
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mr;=1,000,b 1 Mp;=-0,169,b5,=0,389 2

n = P00 -40 40 n = P00 -40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) by v=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Spectral coloursSs, Yy=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, POO -40 max (m) chromatic value, POO -40
chromatic value A4, B;) chromatic value (A,, Bo)
DE361-3A_1 DE361-4A_1
X,,=102,06)Y,,100,00Z,~81,06 B, X,=102,06,Y,,=100,00Z,,=81,06 B,
X=0,3604y,,=0,3531 40 X=0,3604y,,=0,3531 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
30=1, by=-0,4 A 80=1, by=-0,4 A
Mp1=-0,974 bp,=0, 3 mp;=—0,169,bp,=0,389 4

n = P00 40 n = P00 -40 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)
b3 v=b,y(Y/Y1g-1) by y=boy(Y/Y1g-1) 1
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
Spectral coloursSy, Y\y=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, POO -40 max (m) chromatic value, POO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE361-5A_1 DE361-6A_1
X,,=102,06Y,,100,00Z,~81,06 B, X,=102,06,Y,,=100,00Z,,=81,06 B,
X,=0,3604y,,=0,3531 40 X=0,3604y,,~0,3531 +40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
a5=a,,[(+8,61x~7,19/-0,26)4] 3G = ag [X/y] +
bs=by,{(+1,9%+3,86/-2,40)4] bg=bao [(Mp1x+0p1)/y]
a5, = 0,10,by, = 0,10 A ay0=1, byy=-0,4 A
g6y R=475,503,574,494c, 5 Mp;=-0,974,b;=0,658 0 6
n = P00 -40 40 n = P00 -40 bort®s S 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 1
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
a5, 4=0,000,bs ,=0,000 a5 4=0,000,b5 ,=0,000
Spectral coloursSs, Y\y=100 Spectral coloursSg, Yyy=100
max (m) chromatic value, POO max (m) chromatic value, POO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE361-7A_1

DE361-8A_1




515 520 5p5  Spectral coloursSe, Yiy=100
08 17 M, max (m) chromatic value, Q00
510[¢ chromat|C|ty (x,y)
! N/

CIE 1931 X

0,0 0,2 0,4 0,6 0,8 1,0

X=97,93,Yyy=100,0072,,-118,95 Bo
%=0,3090y,,=0,3155

Ao=(ag-[ag n+ap,y*tapal) Y 44
Bo=(bg=[bo,r+0o,y*+0p,al) Y

ag = ao [x/y]

b = byo [z

=1, byp=-0

n=Q00 _40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a9 A=0,000,by ,=0,000
Spectral coloursSg, Yyy=100
max (m) chromatic value, Q00
chromatic value (Ag, Bg)

DE361-1A_1

DE361-2A_1

Xw=97,93,Y,,=100,00,Z,,=118,95 B1
Xy=0,3090y,,=0,3155
Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
ag = a0 [(x-0,179y]

=hyo[2/M]
ay=1, byp=-0,4
my1=1,000,bg,=0, 17,1 '

Xw=97,93,Y,,~100,00,2,,=118,95 B2
X=0,3090y,,=0,3155
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y

2y = a0 [(x=0,17D/y]

=bs0 [(Mpx+bp1)/Y]

ay=1, byp=-0,4

Mp;=—0,169,bp1=0, 389

r >

% v

40
Spectral coloursSg, Yyy=100
max (m) chromatic value, Q00
chromatic value (A,, Bo)

n = Q00 —40 40 n=Q00
ay,y=ay(Y/Y1g-1) 600 35, y=apy(Y/Y1g 1)
by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
apy=0,000,5,y=0,000 ayy=0,000,b,y=0,000
31 4=0,000,b; =0,000 ay 4=0,000,b, ,=0,000
Spectral coloursSs, Yy=100
max (m) chromatic value, Q00 T-40
chromatic value A4, B;)
DE361-3A_1 DE361-4A_1
Xy=97,93Y,,=100,007,~118. 95 B, X,=97,93Y,=100,00Z,-118 95 B,
%y =0,3090y,,=0,3155 20 Xy=0,3090y,,=0,3155 20
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ay[(x-0,17D/y] ay = a0 [(x-0,172/y]
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
30=1, byp=-04 A 80=1, by=-04 A
Mp1=-0,974b5,=0, 3 mp1=-0,169,bp1=0,389 4

a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Spectral coloursSy, Y\y=100

40

n=Qo00 -40
3y, y=3ov(Y/Y1g71)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ay o=0,000,b4 ,=0,000
Spectral coloursSg, Yyy=100

40

max (m) chromatic value, Q00 -40 max (m) chromatic value, Q00 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE361-5A_1 DE361-6A_1
X,=97,93,Y,,~100,002,~118,95 B, X=97,93,Y,,100,007,=118,95 B,
Xy=0,3090y,,=0,3155 20 X=0,3090y,,=0,3155 40

As=(35[35,1*35,y*a5,a]) Y
Bs=(bs—[bs b5 v+bs Al) Y
a5=ay,[(+8,61x=7,19/-0,26)] 443
bs=by,[(+1,99+3,86/-2,40)4]
oy = 0,10,b5, = 0,10
g6y R=475,503,574,494c,
n=Q00 -40
a5 y=apy(Y/Y1g-1)
bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000
a5, 4=0,000,bs ,=0,000
Spectral coloursSs, Y\y=100
max (m) chromatic value, Q00
chromatic value (Ag, Bs)

Ae=(36~{36,1*35,y*35l) Y
Bg=(Pg—[bg n+bs,y+0s Al) Y
g = a0 [X/y]

bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4
mp;=-0,974,bp,=0, 658

n=Q00 _40

ag y=apy(Y/Y1g-1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,y=0,000

ag o=0,000,b5 ,=0,000
Spectral coloursS, Yyy=100
max (m) chromatic value, Q00
chromatic value (Ag, Bg)

DE361-7A_1

DE361-8A_1




